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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution

X2 / ndf
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1D pull distribution
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1D pull distribution

+0.03402

0.001009

Mean

+0.02406

0.2381

Std Dev

Underflow

Overflow

4.165e-11/0

X2 / ndf

30.85 +5.82
-0.05328 + 0.08647

Constant
Mean

0.3648 +0.0728

Sigma

2.779148 K

168

X2 / ndf

.043

+5

1

pO

g_evMon10 (ppb)

corr_us_av




RMS (ppm)

corr_us_avg_evMon10 RMS (ppm)

N
ol

15

0.5

N S T T Y Y
R L L e L U A o L P i S e o S LR L O



@ ~ ) ) < ) ~ ~
g2 g s o 3 3
3 8 3 H pu) =]
S S p o o H ]
+ + © +H 2 n
8 3 3 g ©
< © S o B
g s g —
=] o -
=] -
> m 3 € -1
o £ o <] s © —
c|s 8 8 § % ¢ 5 ¢ -
o s B 5 S %« 8 2 & E
E=
3
3 l\m
= ] -
k] [ - ]
© ThheS— | ]
= =
o
o =
- -
oo by by s by o by g by 1y I I I T
< N o oo} © < N o © © < N o
N ~N N — — — — —
I [U—S—
0 ©
——]
< 0
~m ¢
(<}
o H
md.
™ ——
| — o
—
—
—@
Y— —
© —e
e — e
=) =) ¢
N ——
QX O
Q.
-
-
c
=
>
[} —:
|
(=] ——
s ——
|
(2] —
=) —@
r_ —_—
=
o
o ——]
—
—_——
—
——
——]
_______________
o o o o
@ © < N




RMS (ppm)

3.5

2.5

15

0.5

corr_us_avg_evMonl1l RMS (ppm)

AT T

N

LI | LI 1111 LI ||
O R g O R R g A R P R g R R e R R4 0



© @ ) ) 0 T 0 N
S = 2 i = S
=] 2 < N o S
pas S 0 + + P
vog SR ]
o -
g 3 S —]
3 ]
H = -
- 3 2 ..m k=1 g < © -]
c|§ 3 2 & = & § 5
o s B 5 S %« 8 2 &
E=
3
o =
.m -
R [ < -
© -
= -
o
o
-
| T M| | v e b by by by 7
[ —_———
o | ———
5 —_—]
< oo
-~ ——
66 ——
——
™+
(o]
n/_w ——
—_—
o ————i
_ ——
————
@
“— — ———
© —_——
c —_———
/0 —
~| PY
QX< Q
o —
o —_—
~ — i
m —_——
—
=
>
e_
o
>
(%2}
S
r_
—
o
o

10000




RMS (ppm)

400

380

360

340

320

300

280

260

corr_us_dd_evMonO RMS (ppm)

T T Y Y Y
............. R U O O e e e b i L L e O

Al
&
%_
‘Q_
’\%_
‘y%_
‘%_
%_
‘%_
“%_
‘;%_
%_
ar
<



0.01612 + 0.2553

Mean

1.787 £ 0.1805

Std Dev

Underflow

Overflow
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X2/ ndf
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1D pull distribution

0.00256 + 0.1811

Mean

1.267 + 0.128

Std Dev
Underflow

Overflow

441218

X2/ ndf

7.721+ 1.629

Constant

-0.1082 + 0.2287
1.305+0.251

Mean
Sigma

Ollll

78.72148
—-509.9

X2 / ndf

330.7

+
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1D pull distribution

X2 / ndf

(ppb)
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corr_usr_evMon5 RMS (ppm)

ST T

L L1 | || Ll 11| LL111@]
............. R U O O e e e b i L L e O

&
2
&
2
2
2
2
2
2
2
2
%
2



g 8 ° ° 2 # g 3
g 8 g % 8§ g
s o & @ o S ]
HooH s 5 v« -
38 | e 2
23 ? @ E
g o s ° -]
3 ? 3
2 P
> &8 & . E -
c|ls 8 ¥ 5 ¥ & s ¢ -
§|f 35 s = 5 ¢ 3 ]
=
>
Il ilV\MI
2 =
..& -
2 = —
= .
o
) ]
— |
L P R R M B
<t~ &~ o o N O
- £ -
I
feola\
< O
- o
o
M+_
— <
To}
N~
©
—
o
c
~
~n O
~><a
ife)
[=}
o
N—r
©
[
o
>
o
a
%)
S
a
S
o
O




RMS (ppm)

H
N

12

10

corr_usr_evMon6 RMS (ppm)

~H T

L L1 | || Ll 11| Ll 111l
............. R U O O e e e b i L L e O

&
2
&
2
2
2
2
2
2
2
2
%
2



1D pull distribution

-0.01037 + 0.1425

Mean

0.9975 + 0.1008
10.06/7

8.297 +2.154
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1D pull distribution
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